d’c / d N* d pi™ [pb/GeV]

Ratio to ATLAS

1072

1073

0.5

13000 GeV pp
T T

— I L ' ' =2
: top . ) 15
- P; (ATLAS semileptonic ttbar) 13
B =
(00)]
= _ |«
— 3N
- dJo
B 1
B i
- )
- . g
=
= =
i =
(90)
— — <
— 1 m
- o
B Jo
(90)
B - <
. m ATLAS B
= Pythia 6.428 370 5
= - 8- Pythia 6.428 391 ElE
L Pythia 6.428 default e
e ¥ Pythia 6.428 pro-q20 — 8
B - n
o
— 1=
= =5
_| | | | | ' | | I | | |_ E
:l I I I ' [ T T T T |:
= =P
1
— - |
B —0.5
| 1 1 1 1 | 1 1 1 1 " |
0 500 1000

pi"= [GeV], N = 4



	Contents
	Page 1


